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O 0O 0O O /** (non-Javadoc) * @see
org.pie.vis.Application.VVLSBase#init() */ public void init() { try {
broker = PersistenceBrokerFactory.defaultPersistenceBroker().
broker.clearCache(). //general criteria, with all the query condition
Criteria crit = new Criteria(). Criteria critl = null. List criteriaList =
new Vector(). //if the reservation id is not 0 if (resviD > 0) {
crit.addNotEqualTo("resviD", new Integer(this.resviD)). } Iterator
iter = this.reservationTimeslotList.iterator(). while (iter.hasNext()) {
/Mogger.debug ("TIMESLOT ----- "). ReservationTimeslot
reservationTimeslot = (ReservationTimeslot) iter.next(). /** * set the
query condition list * start and end */ startTimeUTC =
reservationTimeslot.getStartDate TimeUTC(). endTimeUTC =
reservationTimeslot.getEndDate TimeUTC(). if (this.OselectType ==
Constants.BETWEEN_ RESERVATIONS) { critl = new Ciriteria().
//logger.debug ("BETWEEN " startTimeUTC " " endTimeUTC).
critl.addBetween("start", startTimeUTC, endTimeUTC). Criteria
critMorel = new Criteria(). critMorel.addBetween("end",



startTimeUTC, endTimeUTC). Criteria critMore2 = new Criteria().
critMore2.addLessOrEqualThan("start”, startTimeUTC).
critMore2.addGreaterOrEqualThan("end", endTimeUTC).
critl.addOrCeriteria(critMorel). critl.addOrCriteria(critMore2). }
criteriaList.add(critl.copy(true, true, true)). } if (criteriaList.size() >
0) { critl = new Ciriteria(). for (inti=0.1
critl.addOrCriteria((Criteria) criteriaList.get(i)). }
crit.addAndCriteria(critl). } logger.debug(crit). QueryByCriteria
tquery = QueryFactory.newQuery(Timeslot.class, crit).
this.timeslots = broker.getCollectionByQuery(tquery).
broker.clearCache(). broker.close(). } catch (Throwable t) {
logger.error(t.getMessage(), t). } }2. O 0O U 0O O O O O reservation
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= PersistenceBrokerFactory.defaultPersistenceBroker().
broker.clearCache(). //general criteria, with all the query condition
Criteria crit = new Criteria(). Criteria critl = null. List criteriaList =
new Vector(). if (this.OselectType ==

Constants. TOUCHING_RESERVATIONS) { critl = new
Criteria(). /** * the start time is in between this.startTimeUTC and
this.endTimeUTC */ critl.addGreaterOrEqual Than("start",
startTimeUTCQC). critl.addLessOrEqualThan("start", end TimeUTC).
/*** the end time is in between this.startTimeUTC and
this.endTimeUTC */ Criteria crit2 = new Criteria().
crit2.addGreaterOrEqualThan("end", startTimeUTC).
crit2.addLessOrEqualThan("end", endTimeUTC). /** * the start



time is in less than this.startTimeUTC and * the end time is greater
than this.endTimeUTC */ Criteria crit3 = new Criteria().
crit3.addLessOrEqualThan("start", startTimeUTC).
crit3.addGreaterOrEqualThan("end"”, endTimeUTC).
critl.addOrCriteria(crit2). critl.addOrCriteria(crit3). }
criteriaList.add(critl.copy(true, true, true)). if (criteriaList.size() > 0)
{ critl = new Ciriteria(). for (inti=0. i critl.addOrCriteria((Criteria)
criteriaList.get(i)). } crittaddAndCiriteria(critl). } QueryByCriteria
tquery = QueryFactory.newQuery(Timeslot.class, crit).
this.timeslots = broker.getCollectionByQuery(tquery).
broker.clearCache(). broker.close(). 100Test D O O O O O 0O O O
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